Price List

Window Screen Components

Effective 3-

PART NO.

101-20B
101-19G
101-10M
101-02W (SPO)

1-05
DESCRIPTION FINISHES
1-1/4" SCREEN FRAME .040 UNBRONZE
GRAY
165 MILL
) WHITE
7/ 16 Special order,

11/4%

lead time required.

Use Spline .175 Serr.

a/l niversal

Molding Company

PART NO.  DESCRIPTION
119-21BP  3/4" SCREEN FRAME .020
119-136
165

119-01M = =
neaw b

7116

3/4

BOXED: 104 Pcs.

FINISHES

BRONZE
GRAY
MILL
WHITE

Use Spline
175 Serr.

Use Corner

BOXED: 65 Pcs Cambered Use Corner BNDLS: 50 Pcs. MILL ONLY 197-05, 197-07

LENGTH: 12'2" 1201 (Spec.) LENGTH: 12'2" Cambered (Spec.)
110-62B 1" SCREEN FRAME .032 UNBRONZE 117-02BP (SP0) 1/4" SCREEN FRAME .020 BRONZE
110-08G GRAY 117-01M (SP0) MILL
110-02M 215 MILL 117-0GW (SP0) WHITE
110-06W WHITE i — =125
110-61BP  7/15 BRONZE 1/ /=j 5]
110-04A ANODIZED (CLR) * I;_ ‘—‘ Use Spline

—J Use Spline .225 Serr. 3/4 135 Serr.

BOXED: 84 Pcs. Cambered Use Corner 1215, BOXED: 100 Pcs.

LENGTH: 12'2" 196-03 (Spec.) LENGTH: 12'12" Use Corner 1214
111-26PB 1" SCREEN FRAME .025 BRONZE 130-62B 1/4" LIP FRAME .025 UNBRONZE
111-13G GRAY 130-06G GRAY
111-02M 215 ML 130-02M =165 ML
111-25W RN WHITE 130-17W WHITE

7/16 ANODIZED
7/16 . 130-04A l
l ) Use Spline 130-61BP BRONZE
) .225 Serr. 112 —
L‘i 1 — la—— 11/4 Use Spline .175 Serr.
Use Corner

BOXED: 84 Pcs. Cambered 1215, BOXED: 85 Pcs. Cambered Use Corner 197-05

LENGTH: 12'2" 196-08 (Spec.) LENGTH: 12'2" 197-07, 1205
1004A (SPO) 1" EXTRUDED SCREEN FRAME .062 ANODIZED (CLR) 135-61BP 5/16" LIP FRAME .025 BRONZE
1004BP (SP0) BRONZE 135-066 GRAY
1004M (SPO) 215 MILL 135-02M 5/16 ’* 165 \le/lﬁ:'_[E

‘ 135-08W L
7/16 3/8
‘ Use Spline Use Spline
1 ‘ 25 Serr. } 1 175 Serr.

BNDLS: 25 Pcs. BOXED: 120 Pcs. Cambered

LENGTH: 12'2" Straight Only Use Corner 1200 LENGTH: 12'2" Use Corner 203-01
120-G2B 3/4" SCREEN FRAME .025 UNBRONZE PART NAME PARTNO.  FIN. LENGTH PACKAGED
120-08G GRAY 1" JALOUSIE FRAME 732-02M  MILL 12'2" Camb 96 Pcs./Box

165 732-03A AN (CLR 12'2" Camb  1168.0 Ft.
120-02M ) ﬂ rf MILL M Dws 732-04G GRA(Y ) 12" Camb Wt 111 Lbs.
120-06W 7116 WHITE — 8 gggngP ERONZE
120-61BP ANODIZED (CLR) 3”6J p I 732-62 UNIBRZ
120-04A Thickness 0.25 Use Corner  1M/Box Wt. 25 Lbs.

~— 3/4 Use Spline.175 210-01 1.0 Cu. Ft.
. 3/4" FLANGED FRAME 121-01M  MILL 12'2" Camb 104 Pcs./B

BOXED: 104 Pcs. Sef. - 121-02A AN (CLR) 12" Camb 126534 Ft -

LENGTH: 122" i = - o5 121-03G GRAY 12'2" Camb  Wt. 103 Lbs.

BNDLS: 50 Pcs. MILL ONLY Use Corner Spec. | %‘h e P g 367 Cu R

%3/4;._L
Thickness 0.25 Use Corner  1M/Box Wt. 19 Lbs.
al . l . 200-01 1.0 Cu. Ft,
niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com 1




Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO.  DESCRIPTION FINISHES PART NO.  DESCRIPTION FINISHES
125-02M 5/8" HEAVY SCREEN FRAME .024 MILL 118-04B 5/16" SCREEN FRAME .020 UNBRONZE

i 12 118-036G GRAY

— - 118-01M MILL
165
r Use Spline 118-05W + e WHITE
3/8 135 Serr. 5/16
% Use Spline
¥ |=- 5/8 =~ 34 175 Serr.
BOXED: 152 Pcs. Cambered

BOXED: 150 Pcs. Cambered Use Corner LENGTH: 12'2" Use Corner

LENGTH: 122" 201-01 BNDLS: 50 Pcs. MILL ONLY 1213
126-06 5/8" REGULAR SCREEN FRAME .022 586-17BP  3/8" SLIDER FRAME .020 BRONZE
126-02M 586-036 GRAY

120 586-01M MILL
R 5 e R
5/16 586-02A 3/8
‘ Use Spline
e 58— REEY 475 Serr,

BOXED: 175 Pcs. Cambered BOXED: 136 Pcs. Use Corner 204-01,

LENGTH: 12'2" LENGTH: 12'2" Cambered 204-03 or 1212
122-08BP  1-3/16" STANDOFF FRAME .025 BRONZE 160-62B 7/8" SPREADER BAR .040 UNBRONZE
122-046G GRAY 160-046G 516 GRAY
122-01M T MILL 160-01M 16~ MILL
122-09W WHITE 160-63W T WHITE
122-02A 1316 165 ANODIZED (CLR) | 160-g1BP BRZ PTD

160-02A 7/8 ANODIZED (CLR)
7116 Use Spline 040
175 Serr.
3/4

BOXED: 90 Pcs. Straight Use Corner 197-05 BOXED: 75 Pcs. _

LENGTH: 12'2" 197-07 LENGTH: 12' Use Clip 376-01
131-05BP  15/16" STANDOFF FRAME .025 BRONZE 162-62B 5/8" SPREADER BAR .032 UNBRONZE
131-036 GRAY 162-046G GRAY
131-01M T MILL 162-01M =516}~ MILL
131-08W 165 WHITE 162-03W WHITE

tone— woon | ANODIZED (017

- 5/8
L 716 Use Spline 162-61BP 032
175 Serr. L
3/4

BOXED: 90 Pcs. Straight Use Corner 197-05 BOXED: 100 Pcs. .

LENGTH: 12'2" 197-07 LENGTH: 12" Use Clip 376-033
1015A (SPO)  5/8" EXTRUDED STANDOFF FRAME .055 ANODIZED (CLR) | 162-64BP 5/8" SPREADER BAR .025 BRONZE
1015M (SP0) (SPECIAL ORDER) MILL 162-166 GRAY
1015W (SPO) I WHITE 162-14M { 5/16 F MILL
1015BP (SPO) 508 BRONZE 162-13W WHITE

118y | ’—*-165

Use Spline 58| o 025
175 Serr.
~— 718 J
BNDLS: 25 Pcs. Straight BOXED: 100 Pcs. LENGTH: 12' _
LENGTH: 12'2" Use Corner 197-05 BNDLS: 50 Pcs. MILL ONLY Use Clip 376-033
U niversal Moldi
niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
2 Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ® Fax: 310-516-2138 ¢ Internet: www.universalmold.com



Price List

Window Screen Components
Effective 3-1-05

a/l niversal

Molding Company

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
1201M (SPO) 1-1/4" STAMPED CORNER MILL 203-01 5/16" LIP CORNER .050 MILL
&
For Frame 101 BOXED: 1000 For Frame 135
196-03M 1" INSIDE CORNER .061 MILL 201-01M 5/8" HEAVY CORNER .050 MILL
BOXED: 1000 For Frame 110, 111 BOXED: 1000 For Frame 125
1200M (SP0O) 1" INSIDE CORNER 202-01M 5/8" REGULAR CORNER .050 MILL
BOXED: 1000 For Frame 126
197-05M 3/4" INSIDE CORNER .061 MILL 204-01M 3/8" SLIDER CORNER .050 MILL
@ For Frame
119, 131, 120,
BOXED: 1000 122,230 BOXED: 1000 For Frame 586
197-20M 3/4" INSIDE CORNER .040 MILL 204-03M 3/8" SLIDER CORNER .040 MILL
119, 120, 122
BOXED: 1000 130, 131 BOXED: 1000 For Frame 586
200-01 3/4" FLANGED CORNER MILL 210-01 MILL
.060
ﬁ 550 ﬂ’?\
=2 11/64*1 &
BOXED: 1000 For Frame 121 BOXED: 1000 For Frame 732

m niversal Molding Company

10807 Stanford Avenue, Lynwood, CA 90262

Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com




Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
191-35BP (SP0) MULLION BAR .032 BRONZE 1390A (SPO)  ALUMINUM WICKET ANODIZED (CLR)
191-26G (SPO) GRAY 1390BP (SPO0) BRONZE
191-11W (SPO) WHITE 1390M (SPO) MILL
{ 1390W (SPO) WHITE
716 Rewirable, durable
construction.
Simple installation.
13/16
* P 4 Rust free.
BOXED: 40 Pcs. ggsilyé osp;zrateg.
LENGTH: 12' ize 9-3/8" x 7".
192-148P (SP0) MULLION INSERT MODIFIED .025 BRONZE fr):r:fegt:ilr?lg]slzum
}gﬁ\?v(ssi(g \(IiVFI{-IAI“T(E steel locking latch.
-11W (SPO) PLEASE SPECIFY WHICH TYPE WIRE Plastic pull tab.
1 .3/64 YOU WANT WHEN ORDERING Continuous hinge.
5/16
1
BOXED: 12 Pcs.
LENGTH: 12'
209-03 1" x 1" REGULAR CORNER MILL 216-02M 5/16" x 3/4" CORNER .030 MILL
7
BOXED: 500 For Frame 114 BOXED: 1000 For Frame 117
JALOUSIE POLES 196-06M 1" INSIDE CORNER .050 MILL
Part Number: 697-4',5', 7', 8',10', 12", 15' (SP0O) BOXED: 1000 For Frame 110, 111
Tubing: 1.062" D.D. Fluted Extruded Aluminum 197-07M 3/4" INSIDE CORNER .050 MILL

Finish: Commercial Clear Anodize

steel, interior gripping lock nuts.
Handle Cap: Plastic

Material: .060 Thickness — 6063 T5 Extruded Aluminum

Loop: 9/16" 1.D. eye bolt, secured in place with tempered spring

BOXED: 1000

Use Frame 119,
120, 122, 130, 131

El niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
4 Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com



Price List n '| U
Window Screen Components a/l emul

Molding C
Effective 3-1-05 o Ing ompuny
PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
1217G (SPO) 3/8" PLASTIC CORNER GRAY 1362M (SP0) FLUSH DIECAST CLIP MILL
1217W (SPO) WHITE
1217B (SPO) BRONZE f-\\
&
FOR SQUARE CUT SCREEN FRAME Use: 8 x 3/4 HexHd SMS Use Screw 6023
1218G (SPO) 7/16" PLASTIC CORNER GRAY 372-06M 3/16" DIECAST CLIP BLACK
1218W (SPO) WHITE /‘\ MILL
1218B (SPO) BRONZE /‘\ /{
‘ 3/16
FOR SQUARE CUT SCREEN FRAME Use: 8 x 3/4 HexHd SMS Use Screw 6023
1219G (SPO) 5/16" PLASTIC CORNER GRAY 1331M (SP0O) 1/4" DIECAST CLIP MILL
1219W (SP0) WHITE
1219B (SPO) BRONZE /‘\
' 1/4
FOR SQUARE CUT SCREEN FRAME Use: 10-24 x 5/8" Screw S/T Use Screw 6155
1430 (SP0O)  SLIP-IN TENSION SPRING CAD. 1338BL (SP0) 1/8" PLASTIC CLIP BLACK
‘ 278 ‘ 1338G (SPO) GRAY
,% 1338B (SPO) 1/8 BRONZE
1/4
e
Use: 8 x 3/4 HexHd SMS Use Screw 6023
P1390GF (SP0) PLASTIC WICKET GRAY 1371G (SP0)  FLAT PLASTIC CLIP GRAY
P1390GS (SP0) WHITE
P1390WF (SP0) BRONZE
o058 b, G“
PISES (5P0) N
F: Fiber
S: SHELL ONLY
Use: 8 x 3/4 HexHd SMS Use Screw 6023
Rewirable, durable | 1369BL (SP0) 15/16" PLASTIC CLIP BLACK
construction. 1369G (SP0) é GRAY
Simple installation. 13698 (SP0) BRONZE
Rust free. *
Easily operated.
Size 10" x 6". 15;16
Use: 10-24 x 1-1/4" Screw S/T Use Screw 6157

m niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com 5



Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
1335M (SPO) 3/4 SLIDE LOCKS MILL 1343 (SPO)  FLAT WINDOW SPRING — REGULAR CAD.
1429 (SPO)  FLAT WINDOW SPRING — HEAVY DUTY
31/2
Use Notching .
BOXED: 1000 Tool 6363 BOXED: 1000 Use 3/16" Drill Bit
1337M (SP0) 3/4 SLIDER CLIPS MILL 1344M (SP0O) PLUNGER LATCHES — Aluminum MILL
1 n
I )
1345M (SPO) _
3/4" P
e T
1346M (SPO -
Use Notching 5/g" (SPO) ]
BOXED: 1000 Tool 6363 BOXED: 500 & 1000 Use Step Drill 6364
1339M (SP0) SLIP CLIP MILL 1347G (SP0)  7/16" SCREEN RETAINER CLIP — Plastic GRAY
; /
é /
Use Notching 7116 4——»
BOXED: 1000 Tool 6363 BOXED: 1000 For All 7/16 Frames
381-01 SCREEN CLIP MILL 1357 (SP0)  7/16" SCREEN RETAINER CLIP — Metal  CAD.
, /
< /
3/8 N
< \ e
s é
T Use No. AD-41-BS 7116 |~
BOXED: 1000 Pop Rivet BOXED: 1000 For All 7/16 Frames
382-01 HANDLE CLIP MILL 1368 (SP0)  3/8" METAL RETAINER CLIP
— /
T1 S L /
15/16 ~378
RN S
= Use No. AD-41-BS 38 -~ =
BOXED: 1000 Pop Rivet BOXED: 1000 For All 3/8 Frames
1342 (SP0)  WIRE WINDOW SPRING — REGULAR CAD. 1348 (SP0)  CONE SPRING CAD.
1428 (SPO)  WIRE WINDOW SPRING — HEAVY DUTY t
5/8
= Use Notching 4{
BOXED: 1000 Tool 6363 BOXED: 1000 Use 1/8" Drill Bit

El niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com



Price List n '| U
Window Screen Components a/l emul

Molding C
Effective 3-1-05 o Ing ompuny
PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
370-01M LIFT CLIPS MILL 359-01 KNIFE LATCH MILL
370-05B BRONZE Each Pair has one
370-06W WHITE right and one left
LEFT Use No. AD-41-BS
BOXED: 1000 BOXED: 1000 (Pairs) Pop Rivet
376-01 7/8" SPREADER BAR CLIP MILL 320G SPLINE (Vinyl) GRAY
331BL BLACK
{C(g} BLACK
BOXED: 1000 For Part 1101 Serrated
376-03M 5/8" SPREADER BAR CLIP MILL
Smooth
WEIGHT: 15 Lbs./Roll
BOXED: 2 Rolls/Carton
Sizes Available: Approx. Footage:
.090 3000 ft.
120 2500
For Part 1102 1 gg gggg
BOXED: 1000 or 1103 :1 35 2300
1355 (SP0)  “P” PIN 3/32" Diameter CAD. 140 2150
145 200
150 1800
155 1725
160 1650
165 1575
170 1500
175 1450
180 1400
. 185 1350
BOXED: 1000 190 1300
1356W (SPO) PLUNGER LATCH — Nylon WHITE 195 1250
5 .200 1200
.205 1150
210 1100
215 1050
220 1000
225 925
.230 850
.235* 800
BOXED: 500 & 1000 Use Step Drill 6364 .240 750
- 245 700
370-10 BL PULL TABS — Plastic BLACK 250 650
.255 600
.260 550
270 500
* Smooth in these sizes only.

m niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com 7



Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
371-01M 5/16" ALUMINUM CASEMENT CLIP MILL 1361M (SP0) 1/8" DIECAST CLIP MILL
O N
S
<] =
5/16 \9:) r ’i
1/8
Use: 10-24 5/8" Screw S/T Use: 8 x 3/4" HexHd SMS
BOXED: 1000 Use Screw 6155 BOXED: 1000 Use Screw 6023
1314M (SP0) 3/8" ALUMINUM CASEMENT CLIP MILL 372-01M 5/16" DIECAST CLIP MILL
> N
S
SN ‘ Use Screw 6156 @— _j_
3/8 9‘\) i 5/16
Use: 10-24 3/4" Screw S/T For Frame 1005, Use: 10-24 5/8" Screw S/T
BOXED: 1000 1011,1019 BOXED: 1000 Use Screw 6155
371-03M 7/16" ALUMINUM CASEMENT CLIP MILL 372-02M 3/8" DIECAST CLIP MILL
N
Cll=R Y
' 3/8
Use: 10-24 x 3/4" Screw S/T Use: 10-24 3/4" Screw S/T
BOXED: 1000 Use Screw 6156 BOXED: 1000 Use Screw 6156
1316M (SP0) 7/8" ALUMINUM CASEMENT CLIP MILL 372-03M 7/16" DIECAST CLIP MILL
/‘\
=1
B)
Use Screw 6157 7116
Use: 10-24 x 1/4" Screw S/T Use: 10-24 3/4" Screw S/T
BOXED: 1000 For Frame 1014 BOXED: 1000 Use Screw 6156
1317M (SP0) 1-3/16" ALUMINUM CASEMENT CLIP MILL 373-04G 1/16" PLASTIC CLIP GRAY
373-08BL BLACK
373-30W é 116 WHITE
Use Screw 6158 ?
Use: 10-24 x 1-5/8" Screw S/T Use: 8 x 3/4" HexHd SMS
BOXED: 1000 For Frame 1013 BOXED: 1000 Use Screw 6023
372-04M 1/16" DIECAST CLIP MILL 373-06G 3/16" PLASTIC CLIP GRAY
I 373-10BL ’ BLACK
% i r 3/16
1/16
Use: 8 x 3/4" HexHd SMS Use: 8 x 3/4" HexHd SMS
BOXED: 1000 Use Screw 6023 BOXED: 1000 Use Screw 6023

El niversal Molding Company

10807 Stanford Avenue, Lynwood, CA 90262

Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com



Price List

Window Screen Components
Effective 3-1-05

a/l niversal

Molding Company

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
373-01G 5/16" PLASTIC CLIP GRAY 373-05G FLUSH NYLON CAP GRAY
373-09B @ BRONZE
5/16 _
r \u‘
Use: 10-24 5/8" Screw S/T
BOXED: 1000 Use Screw 6155 BOXED: 1000
373-02G 3/8" PLASTIC CLIP GRAY 374-01 WING CLIP MILL
373-11B @ BRONZE
373-32W WHITE
ﬁ
LC_——
Use: 10-24 3/4" Screw S/T
BOXED: 1000 Use Screw 6156 BOXED: 1000
373-03G 7/16" PLASTIC CLIP GRAY 387-01 “Z” CLIP MILL
373-07B BRONZE
373-31W @9’ WHITE 5/16 »
7116 L
.032
Use: 10-24 x 3/4" Screw S/T
BOXED: 1000 Use Screw 6156 BOXED: 1000
1365B (SP0) 7/8" PLASTIC CLIP GRAY 375-01 STRETCHER CLIP — 3/4" SCN. FRM MILL
1365G (SPO) @ BRONZE
1365BL (SP0) WHITE
7/8 Use Screw 6157
Use: 10-24 x 1-1/4" Screw S/T
BOXED: 1000 For Frame 1014 BOXED: 1000
1366B (SPO) 1-1/8" PLASTIC CLIP GRAY 383-01 SWIVEL LATCH MILL
1366G (SPO) BRONZE
1366BL (SP0) @ BLACK
11/8 Use Screw 6158
Use: 10-24 x 1-5/8" Screw S/T Use NO. AD-41-BS
BOXED: 1000 For Frame 1015 BOXED: 1000 Pop Rivet
1367B (SP0) 1-3/16" PLASTIC CLIP GRAY 1333 (SP0)  LOCK PINS — 1/8" Diameter CAD.
1367G (SPO) ag, BRONZE
1367BL (SPO) |~ — Use: 10-24 x 1 5/8"  BLACK ! (g ﬂ
/ Screw S/T Use S 6158
1316 ) se Screw
BOXED: 1000 1334 (SPO) » @I

1-3/16" DIECAST CLIP
1370M Also Available

For Frame 1013

BOXED: 1000

m niversal Molding Company

10807 Stanford Avenue, Lynwood, CA 90262

Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com




Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO. DESCRIPTION FINISHES PART NO. DESCRIPTION FINISHES
920BP (SP0)  JIFFY HANGER W/NAIL .032 GRAY 1307BP (SP0) PACKAGED WINDOW SCREEN HARDWARE BRONZE
920-04G (SPO) )m BRONZE 13076 (SPO) - GRAY
920-01M (SPO) 2/\ A MILL 1307M (SPO) m MILL
920W (SPO) < S §> WHITE 1307W (SPO) /Zi/ f’?g)l WHITE
3/4 ==
/ e BOXED: 100 & 500
+NAILS CONTAINS: 2 Bail Latches w/Screw
BOXED: 1000 (Pairs) — NO NAILS Use Nail 6355 1 Pair Jiffy Hanger w/ Nail
1302 (SP0)  SAFETY HANGER W/NAIL CAD. 1308M (SPO) SPLINE BAIL LATCH W/SCREW MILL
( ©
1302L (SPO) | Each pair has one
Left right and one left
1302R (SPO)
Right BOXED: 1000 (Pairs) Use Nail 6335 BOXED: 1000 Use Screw 6210
1117M (SP0)  SPECIAL BAIL LATCH MILL 920-13 SPRING LATCH — Long Cad. Plated CAD.
) With #11 x 1" Aluminum Drive Nail
O Use Nail 6330
1
3/4 LONG L——j é i
N Use Screw 6210 BOXED: 1000 Use 1/8" Drill Bit
1304M (SP0) TOP HANGER SET MILL 920-14 SPRING LATCH — Short Cad. Plated CAD
With #11 x 1" Aluminum Drive Nail
Eaclh Sftf has |1 Use Screws MMMM@
Lo male, 11emale 6060, 6063 Use Nail 6330
L :1 3/16 Wﬂﬂﬂﬂﬂﬁ
11/8 1
1304M (SP0) BOXED: 1000 Male 1/2 SHORT J—J 1
1304F (SPO)  BOXED: 1000 Female BOXED: 1000 Use 1/8" Drill Bit
920-25BP  SLIP ON BAIL LATCH W/ SCREW GRAY 920-35M SPRING LATCH — Long Stain. Steel
920-24G £ BRONZE With #11 x 1" Aluminum Drive Nail
920-21M e s MILL
920-23W WHITE
11/4 1 }
— — 1
3/4 LONG
BOXED: 1000 + SCREWS Use Screw 6210 BOXED: 1000 Use 1/8" Drill Bit
1306BP (SP0) PACKAGED WINDOW SCREEN HARDWARE BRONZE 920-36M SPRING LATCH — Short Stain. Steel MILL
13066 (SPO) ) GRAY With #11 x 1" Aluminum Drive Nail
1306M (SPO) MILL
1306W (SPO) WHITE

BOXED: 100 & 500
CONTAINS: 1 Bail Latch w/Screw
1 Pair Jiffy Hanger w/ Nail

1
112 SHORTJ‘—J 1

BOXED: 1000

Use Nail 6330

Use 1/8" Drill Bit

10

El niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ¢ Fax: 310-516-2138 ¢ Internet: www.universalmold.com



Price List n '| U
Window Screen Components al emal

Molding C
Effective 3-1-05 o “‘g ompuny
PART NO.  DESCRIPTION FINISHES PART NO.  DESCRIPTION FINISHES
700-39A 5/8" X 1/2" X 1/2" CHANNEL .050 ANODIZED (CLR) | 3605A (SP0O) TOP SLIDE CHANNEL .062 ANODIZED (CLR)
700-40P BRONZE 3605BP (SP0) (Note: Butt together for double track.) ~ BRONZE
3601W (SPO) WHITE 3605W (SPO) - 15/16] WHITE
3601BL (SP0) 5/8 BLACK —— T
3601T (SPO) " L 050 TAN 12

1‘/2 15/8

1N 1

N N 1

BNDLS: 25 Pcs. BNDLS: 25 Pcs.

LENGTH: 12" LENGTH: 12'
700-25A 5/8" 1" X 1" CHANNEL .050 ANODIZED (CLR) | 181-02A SINGLE BOTTOM TRACK .050 ANODIZED (CLR)
700-24BP 5/8 BRONZE 181-03BP BRONZE
3602W (SPO) |=—.050 WHITE 3606W (SPO) WHITE
3602T (SPO) _ TAN 3606T (SPO) T TAN

’ \ 13/'32
! - 15/16 —»]

BNDLS: 25 Pcs. BNDLS: 25 Pcs.

LENGTH: 12' LENGTH: 12'
3603A (SP0) 5/8" x 1/2" x 1/2 DOUBLE .050 CHANNEL ANODIZED (CLR) | 180-02A DOUBLE BOTTOM TRACK .050 ANODIZED (CLR)
3603BP (SPO) BRONZE 180-038P BRONZE
3603W (SPO) WHITE 3607W (SPO) WHITE
3603T (SPO) 5/8 { 5/8 TAN 3670T (SPO) i TAN

l
12 .050 3/8

4\ - 29/32 —»] }
-~ 113/32 ——J

BNDLS: 25 Pcs. BNDLS: 25 Pcs.

LENGTH: 12" LENGTH: 12'
179-02A 5/8" DOUBLE CHANNEL .050 ANODIZED (CLR) | 3608A (SPO) ALUMINUM MEETING RAIL .050 ANODIZED (CLR)
179-03BP F 58 58 % BRONZE 3608BP (SP0) j:—t 112 BRONZE
3604W (SPO) | WHITE 3608W (SP0) — | — WHITE
3604T (SPO) TAN 3608T (SPO) | | TAN

1 15/16
Use AD-42-BS
3/8 Pop Rivet
- Lﬁ
.050
113/32 | For Frame 3001,
BNDLS: 25 Pcs. BNDLS: 25 Pcs. 3002, 3003
LENGTH: 12" LENGTH: 85", 108"

m niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
Toll Free: 800-810-6653 ® Tel: 310-886-1750 ® Fax: 310-516-2138 ¢ Internet: www.universalmold.com 11



Zﬂl niversal

Molding Company

Price List

Window Screen Components

Effective 3-1-05

PART NO.  DESCRIPTION FINISHES PART NO.  DESCRIPTION FINISHES
125-02M 5/8" HEAVY SCREEN FRAME .024 MILL 118-04B 5/16" SCREEN FRAME .020 UNBRONZE

i 120 118-03G GRAY

— . 118-01M MILL
165
r Use Spline 118-05W + e WHITE
3/8 .135 Serr. 5/16
Use Spline
T F 5/8 " ﬁ = 34 175 Serr.
BOXED: 152 Pcs. Cambered

BOXED: 150 Pcs. Cambered Use Corner LENGTH: 12'2" Use Corner

LENGTH: 122" 201-01 BNDLES: 50 Pcs MILL ONLY 1213
126-06 5/8" REGULAR SCREEN FRAME .022 586-17BP  3/8" SLIDER FRAME .020 BRONZE
126-02M 586-03G i 120 GRAY

120 586-01M . MILL
+ ﬁ h 586-36W B f WHITE
? Use Spline
F 5/8 »J T = 5/8 175 Serr.

BOXED: 175 Pcs. Cambered BOXED: 136 Pcs. Use Corner 204-01,

LENGTH: 12'2" LENGTH: 12'2" Cambered 204-03 or 1212
122-08BP 1-3/16" STANDOFF FRAME .025 BRONZE 160-62B 7/8" SPREADER BAR .040 UNBRONZE
122-046G GRAY 160-046G GRAY
122-01M T MILL 160-01M ﬂ 5/16% MILL
122-09W xvl\ll-l(l)T)EIZED (CLR) 160-63W T \éV:ZITIETD

| | 3/16 -
122-02A —~ 165 160-61BP ANODIZED(CLR)
J:t . 160-02A
716 Use Spline 7/8
175 Serr. 040
3/4 |

BOXED: 90 Pcs. Straight Use Corner 197-05 BOXED: 75 Pcs. _

LENGTH: 12'2" 197-07 LENGTH: 12' Use Clip 376-01
131-05BP 15/16" STANDOFF FRAME .025 BRONZE 162-62B 5/8" SPREADER BAR .032 UNBRONZE
131-03G GRAY 162-04G GRAY
131-01M MILL 162-01M MILL

5/16
131-08W T 165 WHITE 162-03W % F WHITE
162-61BP BRONZE
L 7116 Use Spline 5/8 032
175 Serr. L
3/4

BOXED: 90 Pcs. Straight Use Corner 197-05 BOXED: 100 Pcs. .

LENGTH: 12'2" 197-07 LENGTH: 12" Use Clip 376-033
1015A (SPO)  5/8" EXTRUDED STANDOFF FRAME .055 ANODIZED (CLR) [162-64BP  5/8" SPREADER BAR .025 BRONZE
1015M (SPO) (SPECIAL ORDER) MILL 162-16G GRAY
1015W (SP0) f WHITE 162-14M 5116 MILL
1015BP (SP0) | 455 BRONZE 162-13W ﬁ F WHITE

1184 | r—'-165

Use Spline 5/8
i'lj 175 Serr, 025
~— 7R
BOXED: 25 Pcs. Straight BOXED: 100 Pcs. LENGTH: 12" _
LENGTH: 12'2" Use Corner 197-05 BNDLS: 50 Pcs. MILL ONLY Use Clip 376-033
U niversal Moldi
niversal Molding Company
10807 Stanford Avenue, Lynwood, CA 90262
12 Toll Free: 800-810-6653 ¢ Tel: 310-886-1750 ® Fax: 310-516-2138 ¢ Internet: www.universalmold.com



